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101|R#A7 L 690 419 2711 Kg |EE 1,620 108|& 1l 1,728 432
102|357 L 1,975 1975 Kg BIE 1,544 722
111|&EEF £ 217 217|  Kg =40 1,944 108
113|RAV S 95 24 71| Kg |BE 1,404 324| =4 3,024 972
114|B5EFE 192 6 186| Kg |EIR 1,188 e 2,970 1,620
15[ 1= 1 1| Kg |#E 1,080 320|fE 2,700
117[1E 124 12 112| Kg |£EE 378 108| £ 3,780 1,296
121|rblE &€ 19 10 9 Kg |ERE 1,080 324| ) 864
134[#= = 350 122 228| Kg |Ei& 2,800 1,400| & 3,240 2,160
137|&5E.3. < 16 14 2| Kg |BE 324 108|x % 3,780
140(5 I 61 61| Kg e[AEs 50,400 11,016
147|EZ O 97 97| Kg |BE 12,960 il 12,960 4,320
158|EIEA A LS 329 35 294 Kg |Ei& 1,404 1,296|# I8 2,430 1,512
201{Lvb L 953 953| Kg BE - A/l 540 36
203|/hd L 160 160 Kg =40 378 216
206| = 1F 729 729| Kg AR 648 216
208| Mo % 649 649| Kg T 1,620 330
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315|7b 5 24 24| Kg =l 3,780 3,240
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3191 b o 1,112 171 941 Kg |E& 810 756|Z 1l - K9 1,512 432
332|115 WA EF 458 458| Kg F 2,916 1,728
3BlHHY 65 5 60| Kg [%E 3,564 FEE 3,618 3,024
3541xx <Y 116 116] Kg = 3,564 1,296
3/5|HEY) 155 155 Kg & - E 1,836 600
356|L LA 65 65 Kg SER 1,512 864
357~ E 61 61 Kg FEE 10,800 945
358| KE 5 5 Kg A0 4,860

362(H & 170 170 Kg FE 3,024 612
401|H W 80 80 Kg A0 2,052 1,728
4025 E 20 201 Kg F A 5,616 5,400
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70110 BA 60 60| Kg PR 2,268 2,160
71019 2 ®HA0F 298 298| Kg = I 756 745
BlBEFALANIN 176 163 13| Kg |B1R 985 881|&1R 1,500
755(Fd L 23 23] Kg E=AES 1,274 1,044
76l|1b Y AEE 60 60| Kg FOarL 2,620
76713725 WD 220 220 Kg EE 2,160 648
801|BHL =T 604 604| Kg ¥ - A 1,728 1,134
802|111 70 701 Kg 2yl 1,814 1,404
805 = 1E 1,722 1,722 Kg bF 1,274 594
810|BAKTF 616 616| Kg JbiF 2,376 1,674

1/1




